CHM 1025 Exam 1 UF Teaching Center Exam Review

1. Using PC for physical change and CC for chemical change, identify the following: Limestone crushed,
paper burns, steam condenses, air expanding.
A) PC, PC, PC, CC
B) PC, CC, CC, PC
C) CC, PC, PC, CC
D) PC, CC, PC, PC
E) CC, PC,CC,CC

2. Indicate how many significant figures are in the following values:
0.00967 45.908 900.0 9.6700 2700
A)5,4,3,3,4
B)3,5,4,5,2
C)6,5,1,3,2
D)3,4,4,5,4
E)5,5,3,5,2

3. Diamonds are measured in carats and one carat equals 0.200 grams. The density of diamond is 3.51
g/cm3. What is the volume in cm?® of a 5.0 carat diamond?
A) 3.51cm?
B) 3.5cm3
C) 1.42cm3
D) 0.284 cm3
E) 0.28 cm?

4. Name the following compounds: CrBrs, FeSOs, NO,.

Z

Chromium (1) bromide, iron sulfite, mononitrogen dioxide
Chromium (I) bromide, iron (II) sulfite, nitrogen (II) oxide
Chromium tribromide, iron sulfate, nitrogen oxide
Chromium bromide, iron (lI) sulfide, nitrogen (Il) dioxide
Chromium (lll) bromide, iron (ll) sulfate, nitrogen dioxide
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5. What is the classification of CaCOs?
A) Atomic Element
B) Molecular Element
C) Molecular Compound
D) lonic Compound
E) Atomic Compound



6. The coldest temperature ever measured in the United States is -80.0 °F on January 23, 1971, in
Prospect Creek, Alaska. What was the temperature in Kelvin?
A) 211K
B) 299.8K
C) 371K
D) 335K
E) 273K

7. Determine which of the following samples is the heaviest:
1.1 x 102 gold atoms 2.82 x 10?? helium atoms 1.8 x 10% lead atoms

A) Gold sample

B) Helium sample

C) Lead sample

D) Gold and Lead weigh the same
E) All the samples weigh the same

8. Anunknown element X that has two isotopes has been discovered. What is the relative atomic mass
of the element?

Isotope Mass (amu) Natural Abundance
2% 21.995 75.00

20 19.996 25.00

A) 22.32

B) 21.97

C) 20.74

D) 21.50

E) 19.50

9. One of the compounds in cement has the following composition: 52.66% Ca, 12.30% Si, and 35.04%
O. What is its empirical formula?

A) Ca35i205
B) Ca35i05
C) Cazsizos
D) CaSiO

E) CaGSizolo



10.

11.

12.

13.

14.

15.

A 1.00 M solution of dye is diluted by taking 10.00 ml of it and adding enough water to make 100.0
ml solution. Then, 10.00 ml of that solution is diluted to a volume of 250.0 ml. What is the
concentration of the diluted dye?

A) 0.00200 M

B) 0.00250 M

C) 0.00400 M

D) 0.0250 M

E) 0.0400 M

What is the percent mass of nitrogen in NaNOs? NyH,?
A) 16.5%, 87.4%
B) 18.3%, 76.2%
C) 16.5%, 76.2%
D) 35.1%, 50.6%
E) 18.3%,42.9%

The 81Br isotope has which atomic number, neutron number, and mass number, respectively?
A) 35, 46, 81
B) 35, 81, 46
C) 81, 46, 35
D) 46, 81, 35
E) 35, 81, 116

An unknown substance has a density of 0.983 g/cm3. What is this density in ng/um3?
A)98.3
B) 0.983
C) 9.83x10?
D) 9.83x10™*
E) 9.83x10°®

Convert the following values to proper scientific notation. (a) 29,500 (b) 0.000082 (c) 0.0100
A) 2.95x10%, 8.2x10°, 1x10?

B) 2.95x10% 82x107, 1x103

C) 2.95x10% 8.2x10°%, 1x107?

D) 29.5x10% 8.2x107°, 1x102

E) 2.95x10% 8.2x10° 1x10?

Which of the following elements form diatomic molecules?

A) lodine
B) Carbon
C) Helium
D) Bromine
E) Lithium



16. Which of the following are different for isotopes of an element?
I mass number
Il. atomic number
M. neutron number

V. mass of an atom
A) Onlyl
B) Onlyll
C) landll
D) llandlll
E) 1,1, and IV

17. How many protons and electrons does AI** have?
A) 13,10
B) 13,16
C) 14,16
D) 16,10
E) 10,13

18. Identify the following combinations of elements in a compound as ionic or molecular.
(a) nitrogen and oxygen (b) potassium and oxygen (c) nickel and chlorine
A) lonic, Molecular, lonic
B) Molecular, lonic, Molecular
C) lonic, Molecular, Molecular
D) Molecular, lonic, lonic
E) Molecular, Molecular, lonic

19. Calculate the molarity of the following solution: 6.30 g HNOs dissolved in 255 mL of solution.
A) 039 M
B) 0.49M
C) 0.20M
D) 23 M
E) .020M



